UAPFHA 3(x+2y) =3 9 T Z7bax+2y+b=0 <L W, a+b
o] gh2?

D -2 @ -1 @0 @ 1 ® 2

B ‘
3(x+2y) =3

3x46y-3=02 77 302 Y+d

x+2y-1=o0°]c}.

ax+2y+b=0%BustHa=1, b=-1

La+b=0




ol




AAGAA (-a - L)x+ by -2 = 0°] T me] 71 €77} 1] y

=2
dyol 2 d W, &5 a, b FHa+ b F27

by =@+ Dr+2y = CEVE 2519505 1opma

(a+1)
b

=10]11

% — 20|B&E q= -2, b= 10|},

WA a+ b = ~30]c




T ARy = ax +5, y = bx 9]
7t o 22 ), A a b9l F
7

® -2 @—1 ®1

= A
Y
ab 9] -

B

Ehy=bx 4 (-2,1) & WY

watA ab = ~10]t},

y=ax+5° & (-2,1) S HYSIH 1 =-2a+5..a=2




MAdy=x+1,y=3x-1,y=2x+a 7} T Hof|A ghdrtir
o, g O] Z-& F-5HH?

@ -2 @ -1 @0 @ 1 ® 2

mO

x+1=3x-1,2x=2, x=1 .. (1, 2)
2=24+a ..a=0




6.

UAFA A x—ay+b =09 DH7} Thx YA
I A2 o, &2 A7 L/
/ [6)

@a>0,b>0 @ a>0,b<0 ® a<0,b>0
@ a<0,b=0 ® a=0,b=0

1 b 1 b
Xx—ay+b=0E y=—-x+-°]E& ~ >0, - >0°]|t}
a a a a

2t a >0, b> 0 °Jt}.




=2
Bk, 2x -y +1 =02 A A (Lk) € AL ™, 5 a,b 2 &

2 1 .
1)435—6)’+3:0%y:gx—f-iiﬁﬁgs]-?j,
2 5
—1:— . — —
a 3 a 3

i) 2x-y+1=00° & (1,k) & Y54,
2-k+1=0 .. k=3

2 )
i) y = x+b o A (1,3) & s,

2 7
3=—+4+b b=~
3+ 3
5 7
rq-a}/\:i,a—f—b:g—i-g:ﬁl




—

1 L
Z]{y:—ix+47}x57,yéﬂ?l'b}%@%7—]f7—| A, B2

olt
s

o, o}l 138-& B AA y = ax 7} ABOA 2] Ho|E o] 58S

Jpu

y:—§x+4
@ 1 @; ® ®-; 6

1
y:—§x+494x’§*?i (8, ydH 1 4
ABOAZ%X4X8:16
oldf, C(x, ax) °|E=2
1
ACOAzSXaxX§:8 = ax =2
 C=(x 2)

2=——x+4 Lox=4




HB NS AYE ATy =ax+b 7ty = 2x +4 L Al 1
AHEHOA T off, A a o] Q]S totoiet.

> &

> HE: 1<a<7

1717} Het. 19 zg

et 7127 a & A= 1 <a < 7°] Holoky = —2x 44 ¢F
A 1 ARZHA A He




10.

e ™, a-b2 gte okt

O T A4 3x+ay =y+3, 2x+5y =a-b ] WY T

3x+ay=y+ 3°0A
3x+(a-1)y=3---9

15 =2a-2, —2a:—17,a=g,
3(a-b)=2x%x3
17 13
3X —=-3b=6, b= —
><2 5
1 1 4
.'.a—b=—7——3=—=2

2 2 2

4




